
Formatted Test Questions

Section 1, Module 1: Reading and Writing

Question 1

Which choice completes the text with the most logical and precise word or

phrase?

The National Heritage Fellowship was created to ______blank exceptional

folk and traditional artists in the United States. One artist who received the

fellowship, the Irish American accordionist Joe Derrane, was chosen for his
lifetime contributions to the arts.

A.

honor

B.

begin

C.

distract

D.

overshadow

Question 2

Which choice completes the text with the most logical and precise word or

phrase?

Some cities estimate where sidewalks are located using road maps, which is
not very accurate. Maryam Hosseini and her team trained a computer

program to identify sidewalks in aerial images of Boston and used it on
images of Philadelphia. The program’s performance was ______blank to that

of the road-map method: it more accurately identified sidewalks, and it even

distinguished between concrete and brick.

A.

similar

B.

supportive

C.

superior

D.

changed

Question 3

Which choice completes the text with the most logical and precise word or
phrase?

Often, the Nobel Prize in Chemistry is given to a single person, such as
George de Hevesy in 1943. But recognition isn’t restricted to ______blank

individuals. Instead, success in fields like chemistry is usually achieved

through collaboration with other experts, as was the case for Max Ferdinand
Perutz, who was among those awarded for “their studies of the structures of

globular proteins.”

A.

coincidental

B.

solitary

C.

coordinated

D.

considerate

Question 4

Which choice completes the text with the most logical and precise word or

phrase?

The Apollo Moon landings (1969–1972) brought charged particle detectors

and equipment too heavy for liftoff to the Moon and produced large amounts
of data, much of which was stored on outdated technologies. A data-transfer

project is making the data available again, thereby ______blank the Apollo

data’s usefulness, as the data are used to study the long-term effects of being
on the Moon.

A.

installing

B.

persisting

C.

renewing

D.

exceeding

Question 5

Which choice best describes the overall structure of the text?

Movies that are part of larger franchises are often criticized for being
predictable. Take, for instance, Minions (2015), which is part of the

Despicable Me franchise. It’s true that this movie resembles earlier

Despicable Me movies. But just because a movie has familiar elements
doesn’t mean it can’t also be worth watching. Critics generally agree that

Minions isn’t the most exciting franchise movie, but franchise movies are
rarely as stale as some people claim. And some franchise movies, like Creed

(2015), are wonderfully original.

A.

The text describes audiences’ reactions to a movie that is part of a larger

franchise, then presents some critics’ reactions to that movie.

B.

The text discusses a common criticism of franchise movies, then argues

that the criticism is mostly undeserved.

C.

The text explains why some people enjoyed a particular franchise movie,
then considers why other people disliked it.

D.

The text summarizes the plot of a franchise movie, then explains how the
plot is continued in a later movie in that franchise.

Question 6

Based on the texts, what would the author of Text 2 most likely say in
response to the underlined claim in Text 1?

 

Text 1

In 2010 Chengdu, China, was named a City of Gastronomy by UNESCO in

recognition of the city’s unique food culture. The honor is well known among
residents of the city as well as tourists who visit. It’s obvious that the

selection of Chengdu by UNESCO has brought awareness to local recipes,
cooking practices, and chefs and has provided a boost to the city’s tourism

industry.

 

Text 2

Many people in Chengdu’s restaurant industry hoped that food tourism would
increase after the city was chosen as a City of Gastronomy in 2010. However,

as researcher Eerang Park and colleagues argue, cities must still create
effective marketing strategies to benefit fully from being named a City of

Gastronomy. Without an intentional effort to promote the city’s food scene,

many current and potential visitors to Chengdu may not even be aware that
it’s home to uniquely delicious food.

A.

The naming of Chengdu as a City of Gastronomy was long overdue,

given the city’s unique and delicious food.

B.

Many people worked together to help Chengdu be recognized by

UNESCO, but chefs deserve the most credit for Chengdu’s selection as a
City of Gastronomy.

C.

The benefits of being named a City of Gastronomy extend well beyond
tourism.

D.

Chengdu may have benefited from being selected by UNESCO, but

tourism can likely be further increased by making more potential visitors

aware of the city’s status as a City of Gastronomy.

Question 7

Which choice best states the main idea of the text?

The following text is adapted from Daniel Defoe’s 1704 nonfiction book The
Storm.

If I judge right, ’tis the duty of an historian to set everything in
its own light, and to convey matter of fact upon its legitimate

authority, and no other: I mean thus, (for I would be as explicit

as I can) that where a story is vouched to him with sufficient
authority, he ought to give the world the special testimonial of its

proper voucher, or else he is not just to the story: and where it
comes without such sufficient authority, he ought to say so;

otherwise he is not just to himself.

A.

Historians are unlikely to be completely accurate, and so they will

eventually want to revise the work they have produced.

B.

Historians should clearly indicate the extent to which each of their
sources is trustworthy.

C.

The only figures that a historian should quote are those who are widely
viewed as credible.

D.

Because historians cannot tell whose memories they should trust, they

should avoid relying on eyewitness accounts of events.

Question 8

The text makes which point about Nimipuutimt?

In Nimipuutimt, an Indigenous language from the interior Northwest region

of what is now the United States, pit’íin’ means “girl,” whereas pi-pít’in’ is
used to refer to two or more girls. This phenomenon, in which an element of

a root word is repeated, sometimes with modification, within another word
that is related to the root word, is called reduplication. In this case, the

element “pi” in pit’íin’ gets repeated in pi-pít’in’. There are many examples

of this type of reduplication in Nimipuutimt. 

A.

It contains many instances of the type of reduplication seen in the words
pit’íin’ and pi-pít’in’. 

B.

It has a wide variety of reduplicated words and phrases that mean “girl.” 

C.

It is one of the only languages in the world that makes use of
reduplication.

D.

It is closely related to another language from the interior Northwest

region of what is now the United States that also makes use of

reduplication.

Question 9

Based on the text, what do the essays “The Insufficiency of the Present

Confederation to Preserve the Union” and “The House of Representatives”
have in common?

The Federalist Papers are a collection of 85 essays written by Alexander
Hamilton, John Jay, and James Madison. Their publication (under a single

pen name) was divided among the Independent Journal and other New York

newspapers in 1787–88. The essays argue that New Yorkers should vote to
ratify the proposed United States Constitution. Though the authorship of

most of the individual essays is certain, that of a few is in question: for
instance, while No. 15, “The Insufficiency of the Present Confederation to

Preserve the Union,” was surely penned by Hamilton, No. 52, “The House of

Representatives,” may have been written by either Hamilton or Madison.

A.

They were both published sometime during 1787 or 1788.

B.

They were both collaborative efforts between Alexander Hamilton and

James Madison.

C.

They were both written by one of the three authors of the Federalist
Papers, but which of the authors wrote either is not entirely clear.

D.

They were both published in the Independent Journal.

Question 10

Which choice most effectively uses data from the graph to complete the

example?
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Employment in Agriculture, Hunting,
and Forestry in the Czech Republic

and Austria, 1995–2013

Year

Czech Republic

Austria

The following 2 lines are shown:

Czech Republic
Austria

The Number of employees data for the Czech Republic line:

Begins at 1995, 231 thousand
Falls gradually to 1998, 214 thousand

Falls gradually to 2001, 183 thousand
Falls gradually to 2004, 150 thousand

Falls gradually to 2007, 129 thousand
Falls gradually to 2010, 111 thousand

Rises gradually to 2013, 115 thousand

The Number of employees data for the Austria line:
Begins at 1995, 19 thousand

Remains level to 1998, 19 thousand
Falls gradually to 2001, 18 thousand

Rises gradually to 2004, 20 thousand

Remains level to 2007, 20 thousand
Remains level to 2010, 20 thousand

Rises gradually to 2013, 23 thousand

A student is using the graph for a class presentation on historic employment

trends in the agriculture, hunting, and forestry sectors in two European

countries. The student notes that from 1995 to 2007 ______blank

A.

employment in these sectors remained stable in both Austria and the
Czech Republic.

B.

the majority of employees in Austria were working in these sectors. 

C.

the number of employees working in these sectors decreased in the
Czech Republic while remaining relatively steady in Austria. 

D.

the number of employees working in these sectors increased in the Czech
Republic.

Question 11

Which choice best describes information from the table that supports the
student’s claim?

Volcanoes in Ecuador

Name of volcano Year of last eruption Volcano type
Imbabura 5550 BCE compound
Pululahua 290 CE caldera
Sumaco 2016 CE stratovolcano
Santiago 1906 CE shield

A student is researching volcanoes in Ecuador. The student claims that
Ecuador is home to several different types of volcanoes.

A.

Santiago, Sumaco, and Imbabura are all stratovolcanoes, whereas
Pululahua is the only caldera volcano.

B.

Santiago is a shield volcano, Sumaco is a stratovolcano, Imbabura is a

compound volcano, and Pululahua is a caldera volcano.

C.

Santiago and Sumaco are both shield volcanoes, whereas Imbabura and

Pululahua are both compound volcanoes.

D.

Santiago, Sumaco, Imbabura, and Pululahua each most recently erupted
in different years.

Question 12

Which quotation from Memoirs of Elleanor Eldridge most effectively
illustrates the claim?

Memoirs of Elleanor Eldridge is an 1838 historical account by Elleanor

Eldridge and Frances Harriet Whipple Green. In the book, the authors assert
that all people naturally have an emotional attachment to where they live,

writing, ______blank

A.

“Having thus so comfortably established ourselves, with no evil-minded

eaves-dropper to make us afraid, bend now, dear reader, thy most earnest
and delicately adjusted ear; for I am going to tell thee a secret.”

B.

“Home is home, to the lowly as well as the great; and no rank, or color,

destroys its sacred character, its power over the mind, and the affections.”

C.

“Blessed are the slumbers of the innocent! They are kindlier than balm,

and they refresh and gladden the spirit of childhood, like ministerings
from a better world.”

D.

“To give some idea of the high esteem in which the subject of the
following narrative is held, and the strong interest her misfortunes have

excited, a few, from the great number of recommendations in her
possession, are selected.”

Question 13

Which choice most logically completes the text?

Chemists M.H. Gamble, P. Rice, and J.D. Selman studied the mass and heat

transfer processes that occur when foods, such as the Indian snacks dahibara
aludam and samosas, are oil fried. During frying, water in the crust

evaporates, leaving voids that oil (a pure fat) can fill. As the process

continues, water from the food’s center moves to the crust as long as the crust
remains permeable. Therefore, it is likely that, all other things being equal,

sections of a food that lose less moisture during the frying process
______blank

A.

will develop a thicker crust during the frying process than sections that
lose more moisture.

B.

will have a lower fat content after frying is completed than sections that

lose more moisture.

C.

will have a crust that loses its permeability less quickly during the frying

process than sections that lose more moisture.

D.

will have a higher temperature after frying is completed than sections

that lose more moisture.

Question 14

Which choice most logically completes the text?

Ants and aphids are known to be mutualistic: ants feed on the honeydew
produced by aphids, while aphids benefit from ants’ protection against

predators. If aphid colonies—which generally require relatively stable
surfaces, such as trees or other woody plants, to thrive—are too small to

produce significant volumes of honeydew, however, ants will prey on aphids.

Researcher Tae-Sung Kwon examined ant and aphid abundance in two
habitats in South Korea, one on the mainland and one on Jeju Island. Though

the habitats differed in some important respects, both were predominantly
grassland, which could help explain why Kwon observed ______blank

A.

diminished ant and aphid abundance on the mainland compared to that

on the island.

B.

a negative correlation between ant and aphid abundance on both the

mainland and the island.

C.

different ant and aphid species on the mainland compared to those on the

island.

D.

a positive correlation between aphid diversity and abundance on both the
mainland and the island.

Question 15

Which choice completes the text so that it conforms to the conventions of
Standard English?

Museo del Autonomismo Puertorriqueño is a history museum in Ponce,

Puerto Rico. It’s one of more than eighty museums in the US territory. Puerto
Rico’s ______blank showcase everything from the territory’s history to its

architecture to its coffee.  

A.

museums—

B.

museums:

C.

museums

D.

museums,

Question 16

Which choice completes the text so that it conforms to the conventions of

Standard English?

Creek Council Tree (1967) and Cimarron Iron Bridge (1972) are two oil

landscape paintings by renowned Pawnee Nation artist Brummett Echohawk.
In 2023, ______blank displayed alongside other works by Echohawk at the

student-curated exhibition Brummett Echohawk: An Artist’s Journey at the
Oklahoma State University Museum of Art.

A.

this was 

B.

it was

C.

some were

D.

they were

Question 17

Which choice completes the text so that it conforms to the conventions of
Standard English?

In the 1980s, Latino filmmakers Luis Valdez, Gregory Nava, and Ramón
Menéndez helped expand on-screen representation of Latino Americans with

the films Zoot Suit ______blank and Stand and Deliver (1988), respectively.

A.

(1981)—El Norte (1983)—

B.

(1981) El Norte (1983)

C.

(1981), El Norte (1983),

D.

(1981) El Norte (1983),

Question 18

Which choice completes the text so that it conforms to the conventions of

Standard English?

Miguel Angel Asturias of Guatemala won it; Bob Dylan of the United States

won it, too. These are just two examples of the wide range of writers to be

granted what is arguably the most prestigious ______blank the Nobel Prize in
Literature.

A.

award for a person of letters:

B.

award; for a person of letters,

C.

award for a person of letters;

D.

award: for a person of letters

Question 19

Which choice completes the text so that it conforms to the conventions of

Standard English?

The Grootbos florilegium in South Africa contains a collection of botanical

paintings, with each painting depicting a local plant species in exquisite

detail. The florilegium includes a vignette painting by contributing artist
Sibonelo Chiliza. Unlike most paintings in the florilegium, ______blank

A.

Chiliza’s vignette contextualizes a plant within an ecosystem.

B.

a plant’s ecosystem is contextualized in Chiliza’s vignette.

C.

the contextualization of a plant within an ecosystem occurs in Chiliza’s
vignette.

D.

Chiliza contextualizes a plant within an ecosystem in his vignette.

Question 20

Which choice completes the text so that it conforms to the conventions of

Standard English?

On April 12, 1985, the space shuttle Discovery blasted off into space,

commencing Mission ______blank six days and twenty-three hours, the
mission ended when the shuttle landed at Kennedy Space Center in Florida.

A.

STS-51-D, it lasted

B.

STS-51-D, lasting

C.

STS-51-D lasting

D.

STS-51-D. Lasting

Question 21

Which choice completes the text so that it conforms to the conventions of

Standard English?

For scientists to produce new iron nanoparticles of a specific size or strength,
they must first be able to monitor reactions between oxygen and existing iron

nanoparticles at a near-atomic level of detail. Fortunately, chemistry
______blank and his colleagues at Temple University recently developed a

new approach that does just that.

A.

professor, Yugang Sun

B.

professor Yugang Sun

C.

professor, Yugang Sun,

D.

professor Yugang Sun,

Question 22

Which choice completes the text with the most logical transition?

In 1941, activists sought to persuade President Franklin Roosevelt to ban
racial segregation in the military. ______blank civil rights leader A. Philip

Randolph planned a large anti-segregation march on Washington for July 1.

Responding to the pressure, the president agreed to the ban, and the march
was called off.

A.

To that end,

B.

Apart from that,

C.

In some cases,

D.

By comparison,

Question 23

Which choice completes the text with the most logical transition?

Analyses of Rembrandt’s seventeenth-century painting The Night Watch,
citing its richly saturated colors and stark contrasts between light and

shadow, often characterize the work as an exemplar of the Baroque-era style.

Many art historians, however, challenge the very notion of a distinct Baroque
era. They claim that the so-called Baroque aesthetic was, ______blank just an

extension of the stylings of the Renaissance era.

A.

nevertheless,

B.

similarly,

C.

first of all,

D.

in reality,

Question 24

Which choice completes the text with the most logical transition?

Physicist Walter Massey led numerous scientific organizations over his long
career. His most prominent appointment came in 1990, when Massey was

named director of the National Science Foundation. ______blank Massey
had served as the first president of the National Society of Black Physicists.

A.

For example,

B.

Previously,

C.

In conclusion,

D.

Thus,

Question 25

The student wants to explain how soap removes a surface contaminant.
Which choice most effectively uses relevant information from the notes to

accomplish this goal?

While researching a topic, a student has taken the following notes:

Soap forms as the result of a chemical reaction between fats and either
sodium or potassium hydroxide.

One end of a soap molecule is hydrophobic (water repelling), and one

end is hydrophilic (water attracting).
The hydrophobic ends of soap molecules adhere to hydrophobic

surface contaminants, such as dirt and oils.
The soap molecules form circular structures (micelles) around

contaminants.

The hydrophilic ends of the molecules encase the micelles in water,
lifting the micelles and contaminants off surfaces.

A.

To remove dirt from a surface, soap molecules form a circular structure,

or micelle, around the contaminant; next, the molecules encase the

micelle in water, lifting it—and the dirt—off the surface.

B.

Surface contaminants like dirt and oils are hydrophobic, not hydrophilic
—meaning they repel water rather than attract it.

C.

Micelles are circular structures created when soap molecules attach
themselves to dirt or oils.

D.

Dirt, an example of a hydrophobic surface contaminant, can be removed

from a surface by soap, which forms as the result of a chemical reaction

between fats and either sodium or potassium hydroxide.

Question 26

The student wants to compare Charpentier’s descriptions of E major and B

minor. Which choice most effectively uses relevant information from the notes
to accomplish this goal?

While researching a topic, a student has taken the following notes:

In music theory, the term “key” refers to the set of musical notes that

forms the foundation of a piece of music.
In Règles de Composition (1682), French composer Marc-Antoine

Charpentier describes the moods of various musical keys.

He describes the key of E major as “quarrelsome and boisterous.”
He describes the key of B minor as “solitary and melancholic.”

“Hero” (1993) by Mariah Carey is a song written in E major.
“Hotel California” (1976) by the Eagles is a song written in B minor.

A.

The two songs possess a notable difference: “Hero” is written in the key
of E major, while “Hotel California” is written in B minor.

B.

E major is the key in which “Hero” by Mariah Carey was written, and its

mood has been described as “quarrelsome and boisterous.”

C.

While Charpentier describes E major as “quarrelsome and boisterous,” he

describes B minor as “solitary and melancholic.”

D.

In Règles de Composition, Charpentier describes the mood of individual

keys, including E major.

Question 27

The student wants to specify the parts of a Foucault pendulum. Which choice

most effectively uses relevant information from the notes to accomplish this
goal?

While researching a topic, a student has taken the following notes:

Vasile Alecsandri National College in Galați, Romania, is home to a

Foucault pendulum.

The pendulum consists of a weighted ball that swings at the end of a
roughly 10-meter-long cable.

Like all Foucault pendulums, it dangles from a fixed point that ensures
the swing path of the pendulum doesn’t change.

To an observer, the swing path of a Foucault pendulum appears to

change over time because Earth rotates beneath it.
Foucault pendulums are used as a simple way to provide evidence of

Earth’s rotation.

A.

With a swing path that appears to change over time, a Foucault pendulum
provides evidence of Earth’s rotation.

B.

The Foucault pendulum at Vasile Alecsandri National College in Galați,
Romania, includes a cable that is roughly 10 meters long.

C.

Dangling from a fixed point, the Foucault pendulum at Vasile Alecsandri

National College consists of a cable with a weighted ball at the end.

D.

The swing path of the Foucault pendulum at Vasile Alecsandri National

College appears to change over time.

Section 1, Module 2: Reading and Writing

Question 1

Which choice completes the text with the most logical and precise word or
phrase?

Ancient Inca inhabiting the Andes Mountains used terraces, rows of flattened
land with built-in irrigation systems, to grow crops at different altitudes. This

method of farming proved to be highly ______blank, as evidenced by the
great number and variety of crops grown at that time.

A.

uniform

B.

effective

C.

chaotic

D.

burdensome

Question 2

As used in the text, what does the word “appeared” most nearly mean?

The following text is from Meredith Nicholson’s 1910 short story “The Girl

with the Red Feather.”

Mrs. Webster G. Burgess always maintains that nothing her

husband may do can shock her. When her husband had not

appeared at seven she explained to her guest that he had been
detained by an unexpected meeting of a clearing-house

committee.

A.

Pretended

B.

Developed

C.

Responded

D.

Arrived

Question 3

As used in the text, what does the word “tip” most nearly mean?

The following text is from Jhumpa Lahiri’s 2003 novel The Namesake.
Gogol, a child, is at a beach in Massachusetts with his father.

He watches his father raise a kite within minutes into the wind,
so high that Gogol must tip his head back in order to see, a

rippling speck against the sky. The wind whips around their ears,
turning their faces cold.

©2003 by Jhumpa Lahiri

A.

Lean

B.

Inform

C.

Pay

D.

Produce

Question 4

Which choice completes the text with the most logical and precise word or

phrase?

Geomagnetic storms can disturb Earth’s ionosphere, causing the models

underlying the Global Positioning System (GPS) to produce inaccurate

calculations. This illustrates the effect that space weather events can have on
the ______blank of GPS and other systems that are dependent on satellite

navigation.

A.

significance

B.

reliability

C.

extent

D.

complexity

Question 5

Which choice best states the main purpose of the text?

Popularized in sixteenth- and seventeenth-century England by such poets as
William Shakespeare and Edmund Spenser, the sonnet sequence (a series of

fourteen-line poems unified by overarching thematic concerns) remains a
prevalent poetic genre. Although the sonnet’s intricate, rule-bound structure

makes writing even one sonnet—let alone an entire series—intrinsically
challenging, more recent poets from Gwendolyn Brooks to Marilyn Nelson

have undertaken sonnet sequences, likely in part because of the opportunity

the genre presents for showcasing a poet’s virtuosity and ingenuity.

A.

To describe some of the innovations Brooks and Nelson have introduced
to the sonnet sequence

B.

To contrast the more creative sonnet sequences of Brooks and Nelson
with the more conventional ones of Shakespeare and Spenser

C.

To enumerate the structural features of sonnet sequences that make them

challenging to compose

D.

To suggest a reason for the enduring appeal of the sonnet sequence

among poets despite its challenging form 

Question 6

Which choice best describes the function of the underlined portion in the text

as a whole?

Can tomato plants grow on Mars? Can pea plants? You might think the

answer to these questions is obviously no, but researchers in the Netherlands

recently showed that the seeds of many common plant species can germinate
in soil designed to simulate Martian conditions, as long as water is supplied.

In fact, some species actually did better in Martian soil than in Earth soil: 90
percent of tomato seeds sprouted when planted in simulated Martian soil,

compared with 66 percent that did when planted in soil from their home

planet.

A.

It signals the surprising nature of the findings discussed in the text. 

B.

It acknowledges that readers may object to the method used in the
experiment discussed in the text.

C.

It clarifies a potential point of confusion about the hypothesis tested in
the study discussed in the text.

D.

It draws a distinction between the two species discussed in the text. 

Question 7

Which choice best describes the function of the underlined portion in the text
as a whole?

Julie Dash’s lyrical film Daughters of the Dust, first released in 1991, follows

members of a Gullah family as they depart from their island home near
Georgia in 1902. Though an imaginative, critically acclaimed film with a

wide release—and a highly appreciative global audience—Dash’s work never
received the plaudits it deserved within the US film industry. Interest in the

film reignited, however, with Beyoncé’s release of Lemonade in 2016, due to

the visual album’s numerous allusions to Dash’s film in the form of stylistic
references to its scenes, costumes, and celebration of Black life in the US

South.

A.

It gives a brief overview of how Dash’s film was received at the time of

release and alludes to the reception of a similar work that is described
later in the text.

B.

It expands on an attribute of Dash’s film that is described earlier in the

text in order to draw distinctions between the film and a later work that

was influenced by it. 

C.

It presents a discrepancy between the value of Dash’s film and the
industry’s response to it that the text goes on to demonstrate was partially

rectified by the film’s influence on a later work.

D.

It introduces the implication that had Dash’s film received more

recognition from the US film industry at the time of its release, it
wouldn’t have attained such influence on Beyoncé’s Lemonade.

Question 8

What is the main topic of the text?

Sometimes an animal will encounter another member of its own species that

it doesn’t have any connection with. (For example, African lions that aren’t in
the same pride might meet.) When that happens, the animals have to make

decisions. Will they compete for a mate? Will they help in a fight with a

predator? Will there be another outcome? In other words, the animals have to
think carefully about possible risks and benefits.

A.

Animal species that do not have any predators

B.

A kind of meeting between animals of the same species

C.

Animal species that are close to becoming extinct

D.

Different environments that some animal species live in

Question 9

Which choice most effectively uses data from the table to complete the

example? 

Millions of Metric Tons
of Copper Mined in 1995

and 2020

Country 1995 2020
United States 1.85 1.20
Chile 2.49 5.73
Zambia 0.33 0.85
Indonesia 0.44 0.51

A student is researching changes in copper mining from 1995 to 2020. The
student learns that most copper-mining countries mined more in 2020 than in

1995, but some did not. For example, one country that produced less copper
through mining in 2020 than in 1995 is ______blank

A.

the United States.

B.

Zambia.

C.

Chile.

D.

Indonesia.

Question 10

Which choice most effectively uses data from the table to complete the

statement?

Examples of Hoards found in Ireland and Northern Ireland

Hoard name Date of contents
Year of

discovery Description
Coleraine
Hoard 5th century CE 1854 silver pieces

Derrynaflan
Hoard 10th century CE 1980 silver and

bronze pieces

Dooyork
Hoard

3rd century
BCE–2nd
century CE

2001 gold, bronze,
and beads

Deposits of valuable objects, called hoards, have been unearthed in many
different parts of Ireland and Northern Ireland. Technological advancements

in the twenty-first century have made it easier to locate hoards, but plenty of
hoards were found earlier. For example, ______blank

A.

the Derrynaflan Hoard was found in 1854.

B.

the Coleraine Hoard, Derrynaflan Hoard, and Dooyork Hoard have all
been found since 1854. 

C.

the Coleraine Hoard and Derrynaflan Hoard were both found before
2000. 

D.

Derrynaflan Hoard and Dooyork Hoard were both discovered in the

1900s.

Question 11

Which quotation from a work by a music historian would most directly

support the underlined claim?

A student is writing a paper about classical composer Florence Beatrice Price
for a music class. In the paper, the student claims that Price used African

instruments in one of her compositions.

A.

“After moving to Chicago in 1927, Price continued her music studies.”

B.

“In 2009, dozens of Price’s compositions, including her Symphony no. 4,

were found in an abandoned house outside of St. Anne, Illinois.”

C.

“In her composition Symphony no. 1, Price included African drums.”

D.

“Price’s success as a composer was notable in part because before her, no

African American woman had had a work performed by a major US
orchestra.”

Question 12

Which quotation from “The Monster” most effectively illustrates the claim?

“The Monster” is an 1898 story by Stephen Crane. In the story, the character

of Jim, a young boy, is playing in his yard while his father mows the lawn;
while Jim is pulling a cart behind him, he accidentally damages a peony (a

flower). Crane depicts Jim’s initial belief that the damage might be repaired

or concealed: ______blank

A.

“Finally [Jim] went to the peony and tried to stand it on its pins,
resuscitated, but the spine of it was hurt, and it could only hang limply

from his hand.”

B.

“Together [Jim and his father] crossed the lawn towards the flower-bed.

At some yards from the broken peony Jimmie began to lag. ‘There!’ The
word came [from Jim] almost breathlessly.”

C.

“Little Jim was, for the time, engine Number 36, and he was making the
run between Syracuse and Rochester. He was fourteen minutes behind

time, and the throttle was wide open.”

D.

“[Jim’s father] had his back to the accident, and he continued to pace

slowly to and fro, pushing the mower.”

Question 13

Which quotation from “‘No, Thank You, John’” most effectively illustrates

the claim?

“‘No, Thank You, John’” is an 1862 poem by Christina Rossetti. In the poem,

Rossetti depicts a female speaker’s rejection of the romantic advances of a
man named John. The speaker encourages John to pursue another

relationship rather than wait for her to change her mind, saying

______blank

A.

“I never said I loved you, John: / Why will you teaze me day by day, /
And wax a weariness to think upon / With always ‘do’ and ‘pray’?”

B.

“I dare say Meg or Moll would take / Pity upon you, if you’d ask. / And

pray don’t remain single for my sake / Who can’t perform that task.” 

C.

“Here’s friendship for you if you like; but love— / No, thank you, John.”

D.

“Let’s strike hands as hearty friends; / No more, no less; and friendship’s

good: / Only don’t keep in view ulterior ends / and points not

understood.”

Question 14

Which quotation from a publication by a researcher would most effectively

support the student’s claim?

A student is writing an essay on the subject of cultured meat, which is grown

in a laboratory and is intended to help reduce the number of livestock
harvested for food. The student wants to make the case that cultured meat

production may be useful in responding to an expected widespread change in

the public’s behavior.

A.

“Researchers who advocate for the development of lab-grown meat
claim that it’s better for the environment than conventional meat because

it requires less water consumption.”

B.

“The flavor of meat from livestock differs across species (from pig to

chicken to cow), and is also influenced by farming conditions and the
breeds and genders of animals.”

C.

“A growing population that is including significantly more meat in its
diet will contribute to an increasing demand for meat products in the 21st

century.”

D.

“Consumers tend to believe that using less packaging when selling meat
products in stores would have a significant effect on the environment.”

Question 15

Which choice most logically completes the text?

Archaeologists have traditionally thought that many cities in ancient

Mesopotamia, including Uruk and Ur, lay on the extremely dry banks of the

Tigris and Euphrates rivers. Jennifer Pournelle and her team found evidence
that the land these ancient cities sat on consisted of marshy wetlands. This

finding suggests that ______blank

A.

Uruk was founded at an earlier time than Ur was.

B.

far fewer fish species are found in rivers today than in ancient times.

C.

the land many ancient Mesopotamian cities sat on wasn’t as dry as

previously believed.

D.

people in Ur engaged in trade with people from many parts of ancient

Mesopotamia.

Question 16

Which choice most logically completes the text?

Like many other fruit-eating birds on the Hawaiian island of Oahu, the
northern cardinal helps forest plants spread by carrying seeds from the

plants’ fruits to different locations (a process called seed dispersal).

Ecologists have found that fruit-eating birds disperse some seeds from plants
native to Oahu that are at risk of extinction in the wild, such as the kawau

tree, but disperse many more seeds from soapbush shrubs, night-blooming
jessamine shrubs, and other non-native plants that are already widespread.

Believing that the great availability of fruit from non-native plants might be

making birds less likely to eat fruit from native plants, the ecologists
conclude that ______blank

A.

the kawau tree, the soapbush shrub, and the night-blooming jessamine

shrub are the plant species on Oahu most in danger of going extinct in
the wild. 

B.

vulnerable native plants would probably benefit if the populations of
non-native plants, such as the soapbush shrub and night-blooming

jessamine shrub, were reduced. 

C.

the northern cardinal and other fruit-eating birds on Oahu would likely

favor fruits from native forest plants if native and non-native plants were
equally widespread.

D.

roughly equal numbers of seeds from native and non-native plants would

be dispersed if the populations of fruit-eating birds, such as the northern

cardinal, increased.

Question 17

Which choice completes the text so that it conforms to the conventions of

Standard English?

We came to see the famous artworks inside the Museo Soumaya in Mexico

City, yet the building itself ______blank us the most. The building, we later
learned, had been designed by Mexican architect Fernando Romero in 2011.

A.

to impress

B.

having impressed

C.

impressed

D.

impressing

Question 18

Which choice completes the text so that it conforms to the conventions of
Standard English?

Alicia Pérez-Porro, whose research focuses mainly on sea sponges,
______blank as a biologist at the Smithsonian Institution.

A.

work

B.

works

C.

are working

D.

have worked

Question 19

Which choice completes the text so that it conforms to the conventions of

Standard English?

In 2012, Ken Liu’s hard work paid off. Before an audience ______blank
fantasy writers from around the world, Liu’s “The Paper Menagerie”

received the World Fantasy Award, one of the most prestigious honors in
fantasy literature, for Best Short Fiction.

A.

of

B.

of:

C.

of,

D.

of;

Question 20

Which choice completes the text so that it conforms to the conventions of
Standard English?

On the 2021 “100 Best Jobs” list published by U.S. News & World Report,
lawyers, ranked thirty-eighth, were projected ______blank an impressive

32,300 new jobs between 2019 and 2029. In contrast, the projection for

optometrists was 1,900.

A.

are gaining

B.

to gain

C.

had gained

D.

gains

Question 21

Which choice completes the text so that it conforms to the conventions of
Standard English?

As an object-oriented computer programming language, Java is used by
coders like Black Girls Code founder Kimberly Bryant ______blank

programs by manipulating “objects” (that is, specifically defined variables

or combinations of variables) into interacting with each other. Conversely, S-
Lang, used in software development and scripting, is not an object-oriented

language.

A.

created

B.

create

C.

is creating

D.

to create

Question 22

Which choice completes the text with the most logical transition?

Modernist architect Adolf Loos argued that buildings shouldn’t have
ornaments, such as elaborate carvings, because such ornaments don’t have a

meaningful purpose. Post-modernist architect Denise Brown argued that
ornaments can serve a purpose. ______blank they can communicate useful

information about a city’s history and culture.  

A.

However,

B.

As a result,

C.

For instance,

D.

Finally,

Question 23

The student wants to indicate what López-Alegría’s role was on Expedition

14. Which choice most effectively uses relevant information from the notes to
accomplish this goal?

While researching a topic, a student has taken the following notes:

Michael López-Alegría is a US astronaut.

López-Alegría was the commander of Expedition 14.

It was the fourteenth expedition to the International Space Station
(ISS).

It began on September 18, 2006.
It ended on April 21, 2007.

A.

Expedition 14 was the fourteenth expedition to the ISS.

B.

Expedition 14 began on September 18, 2006, and ended on April 21,
2007.

C.

López-Alegría, a US astronaut, was the commander of Expedition 14.

D.

In 2006, López-Alegría traveled to the ISS.

Question 24

The student wants to emphasize the botanical classification of tomatoes.

Which choice most effectively uses relevant information from the notes to
accomplish this goal?

While researching a topic, a student has taken the following notes:

Blackberries are commonly considered fruits because they taste sweet.
In botany, blackberries are classified as fruits.

Tomatoes are commonly considered vegetables because they taste
savory.

In botany, tomatoes are classified as fruits.

A.

In addition to tasting sweet, blackberries are botanically classified as

fruits.

B.

Although commonly considered vegetables, tomatoes are botanically
classified as fruits.

C.

Tomatoes taste savory, but blackberries taste sweet.

D.

Blackberries, which are botanically classified as fruits, taste sweet and
thus are commonly considered fruits.

Question 25

Which choice most effectively uses information from the given sentences to
emphasize a difference between the two works?

Jean-Michel Basquiat was an American artist who produced more than

two thousand drawings and paintings.
His work Untitled (Pollo Frito) was completed in 1982 and sold at

auction in 2018 for $25.7 million.
Untitled (Pollo Frito) is composed of acrylic, oil, and enamel on

canvas and has an area of 7,230 square inches.

His work Danny Rosen was completed in 1983 and sold at auction in
2013 for $4.9 million.

Danny Rosen is composed of acrylic, oil stick, and paper collage on
canvas and has an area of 4,507 square inches.

A.

Decades after Jean-Michel Basquiat completed Untitled (Pollo Frito)
and Danny Rosen, the works were sold at auction.

B.

Untitled (Pollo Frito) (1982) and Danny Rosen (1983) are just two of the

more than two thousand drawings and paintings produced by American

artist Jean-Michel Basquiat.

C.

Untitled (Pollo Frito) and Danny Rosen, two works by artist Jean-Michel
Basquiat, were completed in the same decade, but the former fetched a

higher price at auction.

D.

Composed by artist Jean-Michel Basquiat in 1982 and 1983,

respectively, both Untitled (Pollo Frito) and Danny Rosen use acrylic
paint as a medium.

Question 26

The student wants to emphasize a stylistic similarity between Le Guin’s 1962
short story and some of her subsequent works. Which choice most effectively

uses relevant information from the notes to accomplish this goal?

While researching a topic, a student has taken the following notes:

Ursula K. Le Guin was an acclaimed writer.

Le Guin’s first published work of fiction was a 1962 short story called
“April in Paris.”

It is about an American professor living in Paris who travels through
time.

This story showcases Le Guin’s nuanced portrayal of characters’

thoughts.
Le Guin’s nuanced portrayal of characters’ thoughts is a hallmark of

her subsequent novels and stories.
Le Guin’s most famous novels include A Wizard of Earthsea (1968) and

The Left Hand of Darkness (1969).

A.

Similar to Le Guin’s most famous novels, such as A Wizard of Earthsea

(1968) and The Left Hand of Darkness (1969), the 1962 short story
“April in Paris” is about an American professor living in Paris who

travels through time.

B.

“April in Paris” (1962) showcases Le Guin’s nuanced portrayal of

characters’ thoughts, a hallmark of later works such as A Wizard of
Earthsea (1968) and The Left Hand of Darkness (1969).

C.

Both A Wizard of Earthsea (1968) and The Left Hand of Darkness (1969)

are novels that showcase Le Guin’s nuanced portrayal of characters’

thoughts.

D.

“April in Paris” (1962) is a short story, and A Wizard of Earthsea (1968)
and The Left Hand of Darkness (1969) are novels. 

Question 27

The student wants to emphasize the number of sites containing pre-Clovis
items. Which choice most effectively uses relevant information from the notes

to accomplish this goal?

While researching a topic, a student has taken the following notes:

The Clovis First hypothesis proposes that ancient humans known as

Clovis were the first to populate North America.
The Clovis arrived around 13,000 years ago.

They settled in various locations over a roughly 200-year period. 

Stone tools found at the Sand Creek site in Texas date to approximately
16,540 years ago.

These items support the idea that humans were present in North
America before the Clovis population arrived.

More than a dozen North American sites containing pre-Clovis items

have been identified.

A.

After arriving in North America around 13,000 years ago, the Clovis, an
ancient human population, settled in numerous locations over a roughly

200-year period.

B.

Far from being the only place where evidence of human activity

predating Clovis has been found, the Sand Creek site in Texas is among
more than a dozen such locations in North America.

C.

Dating to approximately 16,540 years old, the items found at Sand Creek,
a site in Texas, predate the arrival of the Clovis population.

D.

North American sites where pre-Clovis items have been found include

Sand Creek, a site in Texas.

Section 1, Module 2: Reading and Writing

Question 1

Which choice completes the text with the most logical and precise word or
phrase?

Postcranial skeletal pneumaticity (PSP) refers to the presence of extensions
of an animal’s lungs and air sacs inside its bones. Though such structures do

not typically fossilize, they are believed to have been present in

Ornithomimus, Phuwiangosaurus, and other Cretaceous theropods and
sauropods. To ______blank PSP from fossils, researchers look for indicators

such as large foramina (holes in bones).

A.

isolate

B.

infer

C.

acquire

D.

preserve

Question 2

Which choice completes the text with the most logical and precise word or
phrase?

In 2018, Costa Rica, which has strong democratic institutions, experienced

an inflation rate of 2.22%, much higher than the 0.25% rate seen in Qatar,
which has relatively weak democratic institutions. Such a result is

______blank, however: Raj Desai et al. have shown that democratic
institution strength tends to restrain inflationary pressures.

A.

anomalous

B.

inexplicable

C.

facetious

D.

unfounded

Question 3

Which choice completes the text with the most logical and precise word or
phrase?

Some robots such as KHR-1 (developed in 2004) and Epi (developed in 2015)
are designed to resemble humans so that people will find it easier to interact

with them. To that end, certain features such as the ability to respond to voice

commands can help to ______blank the effect of the more unnatural aspects
of a robot’s appearance, but a robot that looks too human can fall into the

“uncanny valley,” meaning that its appearance unintentionally unsettles
those who encounter it.

A.

ameliorate

B.

substantiate

C.

augment

D.

coalesce

Question 4

Which choice completes the text with the most logical and precise word or

phrase?

Demosthenes, a prominent fourth-century BCE Athenian orator, is said to
have been ______blank of parrhesia, or speaking freely and openly to ensure

productive civic deliberation. He is noted for characterizing parrhesia in
several public addresses as the foundation of democracy in classical Athens

rather than, more simply, as a facilitator of the political system. 

A.

a harbinger

B.

a steward

C.

an apprentice

D.

a proponent

Question 5

Which choice best states the main purpose of the text?

Hezekiah Baker’s Wind Surf, a beach scene whose pastel blue skies and
sands are sharply contrasted with dark silhouetted palm trees and deep blue

water, is typical of paintings by the Florida Highwaymen, loosely affiliated

landscape artists mainly active in Fort Pierce, Florida, during the 1950s and
’60s. Some art historians suggest that Highwaymen paintings played a role

in shaping popular perceptions of the state that persist today: the natural
iconography that Baker and colleagues constantly revisited—majestic ocean

scenes, windswept palm trees—is now seen as classically Floridian.

A.

To contrast the public’s reaction during the 1950s and ’60s to a

particular painting by Hezekiah Baker with more recent reactions to it

B.

To describe the historical circumstances in which paintings by the
Florida Highwaymen experienced a resurgence in popularity

C.

To explain that a particular painting by Hezekiah Baker has had greater
influence on the broader culture of the state of Florida than is generally

acknowledged

D.

To present the argument that paintings by the Florida Highwaymen likely

helped to create a particular widespread impression of Florida

Question 6

Which choice best describes the function of the underlined portion in the text

as a whole?

Chorioactis geaster, a species of mushroom that makes a distinctive hissing

sound when it releases its spores, is an elusive fungus that has been observed
only in Texas and Oklahoma in the US and in the Miyazaki and Nara

Prefectures in Japan. Scientists aren’t entirely sure why C. geaster is

distributed in this way (genetic analysis reveals that the US and Japanese
strains diverged 19 million years ago), but the mushroom appears to be very

selective: it is typically found on the decaying stumps and roots of only a few
tree species that are abundant in these areas. 

A.

It highlights the negative impact C. geaster has on the trees on which it’s
found.

B.

It elaborates on a characterization of C. geaster presented earlier in the

text.

C.

It provides an explanation for the relationship between C. geaster and its

habitats.

D.

It emphasizes the uncertainty about C. geaster alluded to earlier in the
text.

Question 7

Which choice best describes the main purpose of the text?

In South Africa, use of solid fuel (e.g., coal, wood) as a share of total

household fuel use fell by more than half between 2000 and 2019; such shifts

are often explained by appeal to the energy ladder, a model holding that fuel
choice is mediated mainly by household income (specifically, high-

technology fuels displace solid fuels as incomes rise). Rasmus Heltberg’s
study of fuel use in Vietnam shows this model to be reductive, however:

household fuel use was heterogeneous, flexible, and influenced by several

factors, including local electrical and plumbing infrastructure.

A.

To contrast patterns in household fuel use in two countries

B.

To critique a frequently used model of changes in household fuel prices

C.

To account for the effect of fuel use on household income

D.

To challenge a common explanation for households’ fuel choices

Question 8

Based on the text, Lady Howard would most likely agree with which
statement about Reverend Villars? 

The following text is adapted from Fanny Burney’s 1778 novel Evelina. The

text is an excerpt from a letter by Lady Howard to Evelina’s guardian,
Reverend Villars, in which Lady Howard discusses an upcoming trip to

London planned by her daughter Mrs. Mirvan’s family.

It is very earnestly [the Mirvans’] wish to enlarge and enliven

their party by the addition of your amiable ward, who would

share, equally with her own daughter, the care and attention of
Mrs. Mirvan. Do not start at this proposal; it is time that

[Evelina] should see something of the world. When young people
are too rigidly sequestered from it, their lively and romantic

imaginations paint it to them as a paradise of which they have
been beguiled; but when they are shown it properly, and in due

time, they see it such as it really is, equally shared by pain and

pleasure, hope and disappointment.

A.

Although his desire to guard Evelina from unscrupulous people is
commendable, his general mistrust has led him to be unduly wary of the

Mirvans.  

B.

Although the manner in which he has raised Evelina is in many ways

exemplary, he has been misguided in shielding her from the influence of
other young people.

C.

He is overly protective of Evelina, who would likely benefit from a
greater variety of experiences than she has had thus far.

D.

He has imparted to Evelina his own idealistic view of the world, which

results in her being unprepared to face inevitable disappointments.

Question 9

Which quotation from a music streaming platform user would best illustrate

Walsh’s finding?

Many music streaming services also function as social media platforms: by
giving users the option to follow friends and share curated playlists or

information about their listening history, these platforms allow people to
convey their music preferences and listening activities directly to their social

networks. In a 2023 study, researcher Michael James Walsh interviewed

frequent users of a popular music streaming platform to investigate how its
social media dimensions shape their listening habits. Walsh found that these

dimensions tended to make study participants feel more mindful of how their
listening activities may be perceived, which in turn influenced how they

managed those activities.

A.

“Because the predictions the platform makes about what new songs I

might like depend on my past listening habits, at times its
recommendations can feel overly repetitive and unvarying.”

B.

“Listening to music through a streaming platform feels a lot more

passive, since I don’t need to make any deliberate choices about what

music I’m going to consume, like I do when buying digital downloads or
records and CDs.”  

C.

“The social aspects of music streaming make it really easy to create a

sense of a shared listening experience with my friends, even if we aren’t

in the same room.”

D.

“When I create playlists or choose songs to listen to, I often pick songs
that I think the friends who are following me might be interested in

listening to, rather than what I might actually prefer listening to in that

moment.”

Question 10

Which choice most effectively uses data from the table to complete the

statement?

Examples of Hoards found in Ireland and Northern Ireland

Hoard name Date of contents
Year of

discovery Description
Coleraine
Hoard 5th century CE 1854 silver pieces

Derrynaflan
Hoard 10th century CE 1980 silver and

bronze pieces

Dooyork
Hoard

3rd century
BCE–2nd
century CE

2001 gold, bronze,
and beads

Deposits of valuable objects, called hoards, have been unearthed in many

different parts of Ireland and Northern Ireland. Technological advancements
in the twenty-first century have made it easier to locate hoards, but plenty of

hoards were found earlier. For example, ______blank

A.

the Coleraine Hoard and Derrynaflan Hoard were both found before

2000. 

B.

Derrynaflan Hoard and Dooyork Hoard were both discovered in the

1900s.

C.

the Derrynaflan Hoard was found in 1854.

D.

the Coleraine Hoard, Derrynaflan Hoard, and Dooyork Hoard have all
been found since 1854. 

Question 11

Which quotation from a historian best supports the student’s claim?

A student is writing a research paper on the history of irrigation in the

southwestern United States, situating the development of Mittry Lake (a man-

made body of water created in Imperial County, California, in 1909) in a
larger historical context. The student claims that some modern-day irrigation

methods used in southwestern states, such as California, Arizona, and New
Mexico, have a lineage that long predates the completion of Mittry Lake.

A.

“In the decades following the Second World War, irrigation of arid areas
for agriculture increased to such a degree that it now accounts for

roughly 70% of the world’s water usage.”

B.

“The importance of the development of irrigation infrastructure in the

American Southwest today cannot be overstated, since it is the most
common means of conveying water for food production.”

C.

“The irrigation system developed by the Hohokam people in what is now

central Arizona in the 7th century CE was simple but made use of

hydraulic engineering design principles that are still utilized by today’s
engineers.”

D.

“Sprinkler irrigation systems, which were developed in the late 20th

century, are a convenient technique of irrigating that makes use of

machinery in order to spray water in all directions. Many areas of the
Southwestern United States are currently irrigated by this method.”

Question 12

Which choice most effectively uses data from the table to complete the
example?

Properties of TRAPPIST-1 Exoplanets Compared to Earth’s
Properties

Planet
Orbital period

(days)
Planet radius (Earth

radii)
Earth 365.26 1
TRAPPIST-
1b 1.51 1.09

TRAPPIST-
1d 4.05 0.77

TRAPPIST-1e 6.1 0.92
TRAPPIST-1f 9.21 1.04

TRAPPIST-1 is a planetary system with a central red dwarf star and several
Earth-sized exoplanets. Each planet in this system is so close in orbit to the

star that the gravitational forces acting between the planet and the star cause
the planet’s rotational period around its axis and orbital period around the

star to be equal. For example, the orbital period of TRAPPIST-1e is

______blank

A.

1.51 days, which is the shortest rotational period of any of the TRAPPIST
planets.

B.

9.21 days, which is the same as the rotational period of TRAPPIST-1f.

C.

6.1 days, and its rotational period is 0.92 days.

D.

6.1 days, and its rotational period is also 6.1 days.

Question 13

Which choice most effectively uses a quotation from a translation of The

Clouds to illustrate the claim?

The Clouds is a 423 BCE play by Aristophanes, originally written in ancient
Greek. At the time, professional intellectuals called sophists taught customers

rhetorical techniques to use in public speaking, along with providing
instruction in other subjects. In the play, Aristophanes satirizes sophists as

having an exaggerated sense of their own wisdom, as seen when the

character ______blank

A.

Socrates, a sophist, says to a new customer, “Come, then, take care that,
whenever I propound any clever dogma about abstruse matters, you

[seize] immediately.”

B.

Strepsiades says of a sophist business, “There dwell men who in speaking

of the heavens persuade people that it is an oven, and that it
encompasses us, and that we are the embers. These men teach, if one

give them money, to conquer in speaking, right or wrong.”

C.

Socrates, a sophist, says to a potential customer, “Is the power of

speaking, pray, implanted in your nature?”

D.

Strepsiades encourages his son to learn to be a sophist, saying, “Reform
your habits as quickly as possible, and go and learn what I advise.”

Question 14

Which quotation from a publication by a researcher would most effectively
support the student’s claim?

A student is writing an essay on the subject of cultured meat, which is grown

in a laboratory and is intended to help reduce the number of livestock
harvested for food. The student wants to make the case that cultured meat

production may be useful in responding to an expected widespread change in
the public’s behavior.

A.

“The flavor of meat from livestock differs across species (from pig to
chicken to cow), and is also influenced by farming conditions and the

breeds and genders of animals.”

B.

“Consumers tend to believe that using less packaging when selling meat

products in stores would have a significant effect on the environment.”

C.

“A growing population that is including significantly more meat in its
diet will contribute to an increasing demand for meat products in the 21st

century.”

D.

“Researchers who advocate for the development of lab-grown meat

claim that it’s better for the environment than conventional meat because
it requires less water consumption.”

Question 15

Which choice most logically completes the text?

Omar Asensio and colleagues used machine-learning algorithms to examine

consumer reviews of 12,720 electric-vehicle (EV) charging stations in the

US. They found that privately owned or managed charging stations at or
near hotels and restaurants had relatively low proportions of negative

reviews, while stations at or near parking garages and lots had significantly
higher proportions of negative reviews. Additionally, stations at or near

parking garages and lots tend to require consumers to pay full price to use
them, while stations elsewhere often offer subsidized or even complimentary

charging. Assuming that stations at different sites provide roughly equivalent

levels of service, these results suggest that ______blank

A.

charging stations located near parking garages and lots are more
frequently visited than charging stations located near hotels and

restaurants.

B.

EV drivers are more likely to visit areas with many hotels and restaurants

than they are to visit areas with fewer such businesses.

C.

EV owners are usually unaware of the fees for using charging stations.

D.

users who are offered a discount have lower expectations of the quality of

charging stations than users who are not offered a discount do.

Question 16

Which choice most logically completes the text?

Many contemporary Indigenous painters practice a specifically Indigenous
mode of abstraction; for example, Dyani White Hawk assembles

compositions out of motifs common in the beadwork and other traditional

arts of her tribe. In contrast, the prominent Indigenous practitioners of
abstract painting during the mid-twentieth century, such as the Southern

Cheyenne artist Dick West, typically aligned their compositional strategies
with Abstract Expressionism—a school of painting dominated by European

American artists—instead of with traditionally nonrepresentational forms of

Indigenous art. Thus, in the case of West’s generation, the identification of an
abstract painting as Indigenous art tends to ______blank

A.

obscure the Indigenous origins of certain motifs associated with Abstract

Expressionism.

B.

place a greater emphasis on the artist’s biography than on the aesthetic

merit of the painting.

C.

deny the extent to which cultural identity influences an artist’s work.

D.

depend not on stylistic details but instead on an awareness of the artist’s

identity.

Question 17

Which choice completes the text so that it conforms to the conventions of

Standard English?

In rural Minnesota, ecologist Leroy Walston conducted a study to determine

whether seeding solar panel fields with wildflowers could bolster pollinator
populations in nearby food crops. Walston’s findings indicate that—assuming

solar panel installers’ ______blank practice has the potential to increase the

number of native bees in crops near solar fields throughout the Midwest by
up to 20 percent.

A.

cooperation, this

B.

cooperation this

C.

cooperation—this

D.

cooperation: this

Question 18

Which choice completes the text so that it conforms to the conventions of

Standard English?

George Saunders concludes his essay “What Writers Really Do When They
Write” by comparing the work of fiction writing to the act of juggling. The

author-as-juggler performs a ______blank gathering of central themes and
tensions, the tossing of these elements into a dynamic narrative, and the

catching of the resolutions that emerge.

A.

routine, the

B.

routine. The

C.

routine; the

D.

routine: the

Question 19

Which choice completes the text so that it conforms to the conventions of

Standard English?

The Balkan nation of Bosnia and Herzegovina does not have one president

but ______blank as members of the office of the presidency, one representing
the nation’s Bosniaks, one its Serbs, and one its Croats, these elected officials

take turns serving as the office’s chairperson.

A.

three who are known

B.

three, known

C.

three, who are known

D.

three. Known

Question 20

Which choice completes the text so that it conforms to the conventions of

Standard English?

In his work, Tlingit/Nisga’a artist Da-ka-xeen Mehner uses photography,

performance, and sculpture to explore his identity and cultural history. Since

1989, Indianapolis’s Eiteljorg Museum has celebrated the work of
groundbreaking contemporary Native ______blank in 2015, it awarded

Mehner one of its prestigious artist fellowships.

A.

artists and

B.

artists;

C.

artists, thus

D.

artists,

Question 21

Which choice completes the text so that it conforms to the conventions of
Standard English?

If an animal can recognize itself in a reflective surface (“the mirror test”), it

is considered to have self-awareness. In a recent study, scientists
______blank for evidence of self-awareness in snakes, species that rely

primarily on olfactory rather than visual processing, adapted the test to
foreground smell, modifying the scent trails of North American eastern garter

snakes and African ball pythons.

A.

searched

B.

searching

C.

have searched

D.

were searching

Question 22

Which choice completes the text so that it conforms to the conventions of

Standard English?

The parks of Detroit, Michigan, seem to be making people happier. In 2022, a

team of researchers ______blank to find connections between the physical

location in which a social media post was created and the content of that
post analyzed geotagged social media posts from various sites in Detroit. The

team found that posts from the city’s parks contained more words associated
with happiness than did the other posts.

A.

hoping

B.

were hoping

C.

hoped

D.

was hoping

Question 23

Which choice completes the text with the most logical transition?

A team of ornithologists documented patterns of conspecific brood parasitism

among wood ducks (Aix sponsa) in California. The researchers observed
several female wood ducks visiting dozens of nesting sites and laying eggs to

be incubated by other nesting A. sponsa. Subject 7F64B, ______blank visited
a select few nesting sites before laying and incubating her eggs herself.

A.

similarly,

B.

alternatively,

C.

in particular,

D.

for example,

Question 24

The student wants to indicate how long John Cage’s musical piece will last.
Which choice most effectively uses relevant information from the notes to

accomplish this goal?

While researching a topic, a student has taken the following notes:

“Organ²/ASLSP (As Slow as Possible)” is a musical piece by avant-

garde composer John Cage.
A specially designed automated organ in St. Burchardi Church in

Halberstadt, Germany, began playing the piece in 2001.
It is scheduled to stop playing the piece in 2640.

The performance will last 639 years.
It will be the longest continuous musical performance in history.

A.

John Cage is the composer of the musical piece “Organ²/ASLSP (As
Slow as Possible).”

B.

An organ in St. Burchardi Church in Halberstadt, Germany, began

playing a musical piece by avant-garde composer John Cage.

C.

“Organ²/ASLSP (As Slow as Possible)” is a musical piece currently

being played in St. Burchardi Church in Halberstadt, Germany.

D.

Lasting 639 years, John Cage’s musical piece will be the longest

continuous musical performance in history.

Question 25

The student wants to compare the sizes of the two mountain ranges. Which

choice most effectively uses relevant information from the notes to
accomplish this goal?

While researching a topic, a student has taken the following notes:

The El Carmen-Verde Mountains are located in northwestern Mexico.

They cover an area of 1,141 square miles (mi2m i squared).
The Perilla Mountains are located in the southwestern United States.

They cover an area of 82 mi2m i squared.
These mountain ranges are two of the dozens of “sky islands” in the

southwestern US and northwestern Mexico.

A sky island is an isolated mountain range whose environment differs
drastically from that of the surrounding lowlands.

A.

There are dozens of isolated mountain ranges located in the southwestern

US and northwestern Mexico.

B.

Sky islands in northwestern Mexico and the southwestern US can vary in

size.

C.

In terms of area, the El Carmen-Verde Mountains (which cover 1,141

mi2m i squared) are larger than the Perilla Mountains (82 mi2m i
squared).

D.

The El Carmen-Verde Mountains and the Perilla Mountains are both
isolated mountain ranges whose environments differ drastically from that

of the surrounding lowlands.

Question 26

The student wants to explain the principle espoused by the Bauhaus. Which

choice most effectively uses relevant information from the notes to
accomplish this goal?

While researching a topic, a student has taken the following notes:

Gertrud Arndt was a photographer born in Racibórz, Poland.
She began attending the Bauhaus in 1923.

The Bauhaus was an influential German art and design school.
The school famously espoused the design principle of “form follows

function.”

“Form follows function” means that an object’s shape should be
determined primarily by its intended purpose.

A.

According to the Bauhaus, an object’s intended purpose (function) should

primarily determine its shape (form).

B.

An object’s intended purpose and its shape are two elements of the design

principle “form follows function.”

C.

Famous for its principle of “form follows function,” the Bauhaus was an

influential German art and design school.

D.

Gertrud Arndt was a photographer who attended the Bauhaus, famous
for espousing the principle of “form follows function.”

Question 27

Which choice most effectively uses information from the given sentences to
begin a narrative about one of the athletes?

Warrick Dunn and Tiki Barber had historic careers as running backs in
the National Football League (NFL).

The running back position entails running, or rushing, down the field

with the football to gain yards for the team.
Warrick Dunn gained a total of 10,967 rushing yards in his career.

He played for the Tampa Bay Buccaneers and the Atlanta Falcons.
Tiki Barber gained a total of 10,449 rushing yards in his career.

He played for the New York Giants.

A.

While Dunn finished his career with more rushing yards, both Dunn and

Barber reached the career milestone of rushing for over 10,000 yards
total.

B.

Dunn began his career with the Tampa Bay Buccaneers; Barber started
with New York Giants.

C.

When Dunn put on his Tampa Bay Buccaneers uniform for his first NFL

game, he began what would become a legendary professional career.

D.

Dunn’s blend of speed, power, and agility helped him accrue 10,967

rushing yards by the end of his career, etching his name into the NFL’s
record books.

Section 2, Module 1: Math

Question 1

The function 𝑓 is defined by 𝑓𝑥 = 85𝑥 + 30. What is the value of 𝑓𝑥 when 𝑥 = 6?

Type your answer here...

Question 2

In triangle 𝑋𝑌𝑍, two of the angles have the same measure. If the measure of

angle 𝑋 is 138° and the measure of angle 𝑌 is 21°, what is the measure of

angle 𝑍?

A.

180°

B.

138°

C.

42°

D.

21°

Question 3

𝑥2 - 8 = 28

What is the positive solution to the given equation?

A.

20

B.

√20

C.

36

D.

√36

Question 4

What value of 𝑥 is the solution to the equation 16𝑥 + 60 = 28𝑥?

A.

-4

B.

1
5

C.

5
11

D.

5

Question 5

Which expression is equivalent to 70𝑦 + 60𝑦?

A.

420𝑦2

B.

420𝑦

C.

130𝑦2

D.

130𝑦

Question 6

An internet provider wanted to know how many of its 20,000 subscribers

would be interested in a new service plan. The provider selected 200
subscribers at random and asked each subscriber whether the subscriber

would be interested in the new plan. Of those surveyed, 3 said they would be
interested. Which of the following is the best estimate of the total number of

subscribers who would be interested in the new service plan?

A.

3

B.

30

C.

300

D.

3,000

Question 7

In the given scatterplot, a line of best fit for the data is shown.

Which of the following is closest to the slope of this line of best fit?

A.

-7

B.

-0.7

C.

0.7

D.

7

Question 8

A chemist mixed 𝑥 liters of a 4% saline solution with 𝑦 liters of a 7% saline

solution to produce a 5% saline solution. Which equation best represents this
situation? (Assume the volumes of the solutions are additive.)

A.

0.04𝑥 + 0.07𝑦 = 5(𝑥 + 𝑦)

B.

0.04𝑥 + 0.07𝑦 = 0.05(𝑥 + 𝑦)

C.

0.4𝑥 + 0.7𝑦 = 5(𝑥 + 𝑦)

D.

0.4𝑥 + 0.7𝑦 = 0.5(𝑥 + 𝑦)

Question 9

The function 𝐹(𝑚) = 7𝑚 models the force, in newtons, acting on each object

in a certain field as a function of the object's mass 𝑚, in kilograms. Which
statement is the best interpretation of 𝐹(4) = 28 in this context? 

A.

The estimated force acting on an object with a mass of 4 kilograms is 28

newtons.

B.

The estimated force acting on an object with a mass of 28 kilograms is 4

newtons.

C.

The estimated force acting on an object with a mass of 7 kilograms is 4
newtons.

D.

The estimated force acting on an object with a mass of 7 kilograms is 28
newtons.

Question 10

A car dealership has only sedans, SUVs, and minivans for sale. On Monday,
20% of the vehicles for sale were sedans and 50% were SUVs. If there were

36 sedans for sale at the dealership on Monday, how many minivans were for
sale?

Type your answer here...

Question 11

Each face of a fair 16-sided die is labeled with a number from 1 through 16,
with a different number appearing on each face. If the die is rolled one time,

what is the probability of rolling a 4? (Express your answer as a decimal or

fraction, not as a percent.)

Type your answer here...

Question 12

The base of a parallelogram has a length of 𝑥 meters, and the height of the

parallelogram is 𝑥 - 8 meters. The parallelogram has an area of 308 square
meters. What is the value of 𝑥?

A.

28

B.

22

C.

14

D.

11

Question 13

𝑥 𝑦
1 21
2 33
3 𝑎

The table shows three values of 𝑥 and their corresponding values of 𝑦 for the

equation 𝑦 = 62𝑥 + 9. In the table, 𝑎 is a constant. What is the value of 𝑎?

A.

105

B.

57

C.

48

D.

45

Question 14

A right square pyramid has a base with side lengths of 6 centimeters. The

height of the pyramid is 10 centimeters. What is the volume, in cubic
centimeters, of this pyramid?

A.

20

B.

40

C.

120

D.

360

Question 15

𝑦 = 𝑥 + 9

𝑦 = 𝑥2 + 16𝑥 + 63

A solution to the given system of equations is 𝑎, 𝑏, where 𝑎 and 𝑏 are
constants. What is the greatest possible value of 𝑎?

Type your answer here...

Question 16

Circle A in the xy-plane has the equation 𝑥 + 32 + 𝑦 - 32 = 4. Circle B has the
same center as circle A. The radius of circle B is two times the radius of

circle A. The equation defining circle B in the xy-plane is 𝑥 + 32 + 𝑦 - 32 = 𝑘,
where 𝑘 is a constant. What is the value of 𝑘?

Type your answer here...

Question 17

In the xy-plane, line 𝑘 has a slope of 6
17, an x-intercept of -6, 0, and a y-

intercept of 0, 𝑝. What is the value of 𝑝?

Type your answer here...

Question 18

Which expression is a factor of 20𝑦3 + 15𝑝𝑦2 + 28𝑦 + 21𝑝?

A.

5𝑦2 + 7

B.

5𝑦2 + 7𝑝

C.

4𝑦 + 3

D.

3𝑦 + 4𝑝

Question 19

The 2 triangles are oriented such that vertex upper A
corresponds to vertex upper A prime, vertex upper B

corresponds to vertex upper B prime, and vertex upper C

corresponds to vertex upper C prime.
A note indicates the figures are not drawn to scale.

 

Triangles 𝐴𝐵𝐶 and 𝐴' 𝐵' 𝐶'  are shown. Triangle 𝐴𝐵𝐶 is dilated by a scale

factor of 4 to form triangle 𝐴' 𝐵' 𝐶' . If the length of 𝐴𝐵 is 48, what is the

length of ¯𝐴' 𝐵' ?

A.

4

B.

12

C.

52

D.

192

Question 20

An object is launched into the air from ground level. According to a
quadratic model, 3.9 seconds after the object is launched, it reaches its

maximum height of 243.36 feet above ground level. Which equation

represents this model, where 𝑓𝑡 is the object's height, in feet, above ground
level 𝑡 seconds after it was launched?

A.

𝑓𝑡 = - 16(𝑡 - 3.9)2 + 243.36

B.

𝑓𝑡 = 16(𝑡 - 3.9)2 + 243.36

C.

𝑓𝑡 = - 16(𝑡 + 3.9)2 + 243.36

D.

𝑓𝑡 = 16(𝑡 + 3.9)2 + 243.36

Question 21

𝑥 - 4 - 5𝑦 + 2 = 131

𝑥 - 4 + 5𝑦 + 2 = 446

The solution to the given system of equations is 𝑥, 𝑦. What is the value of

10𝑥 - 4?

Type your answer here...

Question 22

The histogram has 4 bins.

The frequency values of the 4 bins are as follows:

30 to 39 points: About halfway between 0 and 5
40 to 49 points: About halfway between 5 and 10

50 to 59 points: About halfway between 25 and 30
60 to 69 points: About halfway between 10 and 15

The histogram summarizes the distribution of an original data set that

represents the number of points per game a basketball team has scored in the
last 50 games played. If the team scores 18 points in the next game and this

game is added to the original data set to create a new data set of 51 values,
which of the following must be true?

I. The median number of points per game for the new data set is less than
the median number of points per game for the original data set.

II. The mean number of points per game for the new data set is less than

the mean number of points per game for the original data set.

A.

I only

B.

II only

C.

I and II

D.

Neither I nor II

Section 2, Module 2: Math

Question 1

For the parabola in the system:

The parabola opens upward.
The vertex is at point (10 comma 1).

The parabola passes through the following points:
(9 comma 2)

(10 comma 1)

(11 comma 2)
For the line in the system:

The line is horizontal.
The line passes through the following points:

(0 comma 1)

(10 comma 1)

The graph of a system of a linear and a quadratic equation is shown. What is

the solution 𝑥, 𝑦 to this system?

A.

10, 1

B.

10, - 1

C.

-10, 1

D.

0, 0

Question 2

A wheel completes 200 revolutions in 20 minutes. At this rate, how many
revolutions per minute does this wheel complete?

A.

10

B.

180

C.

220

D.

400

Question 3

The bar graph shows the number of visitors at a store each day the store was

open for business during a certain week.
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All values are approximate.

The data for the 6 categories are as follows: 
Sunday: 97

Monday: 20
Wednesday: 54

Thursday: 45

Friday: 85
Saturday: 137

During this week, how many days did the store have between 90 and 140
visitors?

Type your answer here...

Question 4

If 2𝑥 = 8, what is the value of 10𝑥?

A.

9

B.

13

C.

20

D.

40

Question 5

There are 650 objects in a box. Of these objects, 8% are cubes. How many
cubes are in the box?

A.

8

B.

52

C.

260

D.

642

Question 6

Reynaldo purchased a box of pasta and some tomatoes at the grocery store.

Reynaldo paid  $ 2 for the box of pasta and  $ 1.20 per pound for the
tomatoes. If Reynaldo paid a total of $ 4.40 for the box of pasta and the

tomatoes, which of the following equations can be used to find 𝑝, the number
of pounds of tomatoes Reynaldo purchased? (Assume there is no sales tax.)

A.

1.20𝑝 + 2 = 4.40

B.

1.20𝑝 - 2 = 4.40

C.

1.20 + 2𝑝 = 4.40

D.

1.20 - 2𝑝 = 4.40

Question 7

What is the y-intercept of the graph of 𝑦 = 3
11
𝑥 + 1  in the xy-plane?

A.

3, 11

B.

0, 11

C.

0, 3

D.

0, 3
11

Question 8

On a certain day in June, the lowest recorded wind speed in a town was

6   miles   per   hour   mph and the highest recorded wind speed was
15   mph. Which inequality is true for all values of 𝑤, where 𝑤 represents any

wind speed, in   mph, recorded in the town on this day?

A.

6 ≤ 𝑤 ≤ 15

B.

𝑤 ≥ 15

C.

𝑤 ≤ 9

D.

𝑤 ≤ 6

Question 9

The table shows some values of 𝑥 and their corresponding values of 𝑓(𝑥).
Which of the following graphs could be the graph of 𝑦 = 𝑓(𝑥) in the xy-plane?

A.

B.

C.

D.

Question 10

In the figure, line 𝑗 is parallel to line 𝑘. What is the value of 𝑥?

Type your answer here...

Question 11

The function 𝑔 is defined by 𝑔𝑥 = √8𝑥 + 9. What is the value of 𝑔5?

Type your answer here...

Question 12

The boundary of the inequality is a solid line.

The line slants sharply down from left to right.

The line passes through the following points:
(4 comma 1)

(StartFraction 48 Over 11 EndFraction
comma 0)

(5 comma negative seven fourths)

The area above and to the right of the boundary is shaded.

The shaded region shown represents solutions to an inequality. Which

ordered pair 𝑥, 𝑦 is a solution to this inequality?

A.

0, - 6

B.

0, 6

C.

-6, 0

D.

6, 0

Question 13

The function 𝑓 is defined by 𝑓𝑥 = - 5
16𝑥 + 16. What is the slope of the graph of

𝑦 = 𝑓𝑥 in the xy-plane?

A.

-16

B.

- 5
16

C.

1
16

D.

5

Question 14

𝑦 = 4,600𝑎𝑥

The given equation, where 𝑎 is a positive constant, gives the predicted

number of bacteria, 𝑦, in a growth medium 𝑥 hours after the number of
bacteria was initially measured. According to the equation, what was the

predicted number of bacteria initially measured in the growth medium?

Type your answer here...

Question 15

√𝑥 = √53

What value of 𝑥 makes the given equation true?

Type your answer here...

Question 16

A building has 𝑟 residential and 𝑐 commercial units for a total of 125 units.

The residential units are 1,050 square feet and the commercial units are
2,500 square feet. All units in the building have a combined total of 167,500

square feet. Which system represents this situation?

A.

1,050𝑟 + 2,500𝑐 = 125

𝑟 + 𝑐 = 167,500

B.

1,050𝑟 + 2,500𝑐 = 125

𝑟 - 𝑐 = 167,500

C.

1,050𝑟 + 2,500𝑐 = 167,500

𝑟 + 𝑐 = 125

D.

1,050𝑟 + 2,500𝑐 = 167,500

𝑟 - 𝑐 = 125

Question 17

What is an x-intercept of the graph of the equation 𝑦 = 𝑥 + 9𝑥 - 11𝑥 + 12 in the
xy-plane?

A.

1, 0

B.

0, 9

C.

11, 0

D.

0, 12

Question 18

For the linear function 𝑓, 𝑓3 = 19 and 𝑓9 = 1. Which equation defines 𝑓?

A.

𝑓𝑥 = - 1
3𝑥 + 20

B.

𝑓𝑥 = 1
3𝑥 - 2

C.

𝑓𝑥 = - 3𝑥 + 22

D.

𝑓𝑥 = - 3𝑥 + 28

Question 19

Angle upper S is a right angle.
The length of side upper R upper S is 2 StartRoot 218

EndRoot.

The length of side upper S upper T is 217.
The length of side upper R upper T is 219.

A note indicates the figure is not drawn to scale.

 

What is the value of tan𝑅 in the triangle shown?

A.

2√218
219

B.

219
2√218

C.

2√218
217

D.

217
2√218

Question 20

A cylinder has a diameter of 12 inches and a height of 16 inches. What is the

volume, in cubic inches, of the cylinder?

A.

36𝜋

B.

192𝜋

C.

576𝜋

D.

2,304𝜋

Question 21

Line 𝑟 is defined by the equation 2𝑥 - 3𝑦 = 8. Line 𝑠 is parallel to line 𝑟 in the
xy-plane. What is the slope of line 𝑠?

A.

-3

B.

-2

C.

2
3

D.

3
2

Question 22

𝑟 = √4𝑤 - 7

The given equation relates the real numbers 𝑟 and 𝑤, where 𝑤 > 7
4. Which

equation correctly expresses 𝑤 in terms of 𝑟?

A.

𝑤 = 𝑟2

4 + 7

B.

𝑤 = 𝑟2

4 + 7
4

C.

𝑤 = √4𝑟 - 7

D.

𝑤 = √-7𝑟 + 4

Section 2, Module 2: Math

Question 1

The boundary of the inequality is a solid line.
The line slants gradually up from left to right.

The line passes through the following points:

(negative 3 comma 5)
(0 comma 6)

(3 comma 7)
The area above and to the left of the boundary is shaded.

The shaded region shown represents the solutions to which inequality?

A.

𝑦 ≥ 1
3𝑥 + 6

B.

𝑦 ≥ 3𝑥 + 6

C.

𝑦 ≤ 1
3𝑥 + 6

D.

𝑦 ≤ 3𝑥 + 6

Question 2

Line 𝑟 is defined by the equation 5𝑥 - 4𝑦 = 3. Line 𝑠 is parallel to line 𝑟 in the

xy-plane. What is the slope of line 𝑠?

A.

-5

B.

-4

C.

4
5

D.

5
4

Question 3

What is the y-intercept of the graph of 𝑦 = 3
11
𝑥 + 1  in the xy-plane?

A.

3, 11

B.

0, 11

C.

0, 3

D.

0, 3
11

Question 4

The function 𝑓 is defined by 𝑓𝑥 = 4
11𝑥. What is the slope of the graph of 𝑦 = 𝑓𝑥

in the xy-plane?

A.

0

B.

4
11

C.

11
4

D.

The slope is undefined.

Question 5

The function 𝑔 is defined by 𝑔𝑥 = 7𝑥-1 . What is the value of 𝑔8?

A.

-56

B.

1
56

C.

7
8

D.

8
7

Question 6

The kinetic energy, in joules, of an object with mass 37 kilograms traveling at

a speed of 𝑣 meters per second is given by the function 𝐾, where 𝐾𝑣 = 1
237𝑣2  .

Which of the following is the best interpretation of 𝐾0 = 0 in this context?

A.

The kinetic energy of the object is 0 joules when the mass of the object is

0 kilograms.

B.

The speed of the object is 0 meters per second when the mass of the

object is 0 kilograms.

C.

The kinetic energy of the object is 0 joules when the object is traveling at

a speed of 0 meters per second.

D.

The height of the object is 0 meters when the object is traveling at a
speed of 0 meters per second.

Question 7

A model estimates that a gray whale travels 72 to 77 miles each day during
its migration. Based on this model, which inequality represents the estimated

total number of miles, 𝑥, a gray whale could travel in 21 days of its
migration?

A.

72 + 21 ≤ 𝑥 ≤ 77 + 21

B.

7221 ≤ 𝑥 ≤ 7721

C.

72 ≤ 21 + 𝑥 ≤ 77

D.

72 ≤ 21𝑥 ≤ 77

Question 8

If 8𝑥 + 7 = 7𝑥 + 7 + 58, what is the value of 𝑥 + 7?

A.

-7

B.

51

C.

58

D.

65

Question 9

At an amusement park, visitors wait in line for a certain ride. People in this

line get on the ride at a rate of 13 people per minute. At the end of a certain
day, 214 people are in line for the ride when the line closes. If these 214

people will get on the ride and no additional people are allowed to get in
line, which function 𝑝 models the number of people who remain in line 𝑡
minutes after it closes?

A.

𝑝𝑡 = - 13𝑡 + 214

B.

𝑝𝑡 = 13𝑡 + 214

C.

𝑝𝑡 = 13𝑡 - 214

D.

𝑝𝑡 = 227𝑡

Question 10

For the line in the system:
The line is horizontal.

The line passes through the following points:
(0 comma 5.6)

(6 comma 5.6)

(8 comma 5.6)
For the parabola in the system:

The parabola opens downward.
The vertex is at the point (7 comma 6.3).

The parabola passes through the following points:

(4 comma 0) 
(6 comma 5.6)

(8 comma 5.6)
(10 comma 0)

The graph of a system of a linear equation and a quadratic equation is

shown. A solution to the system is 𝑥, 𝑦. What is a possible value of 𝑥? 

A.

5.6

B.

7

C.

8

D.

10

Question 11

A sphere has a radius of 3 inches and a density of 84 ounces per cubic inch.

What is the mass, in ounces, of the sphere?

A.

3𝜋
7

B.

7𝜋
3

C.

252𝜋

D.

3,024𝜋

Question 12

-83𝑥 - 11 + 4 = - 52

What is the sum of the solutions to the given equation?

Type your answer here...

Question 13

The line segment slants gradually up from left to right.
The line segment begins at the point (negative 3 comma

5).

The line segment ends at the point (6 comma 11).

The line segment shown in the xy-plane represents one of the legs of a right

triangle. The area of this triangle is 42√13 square units. What is the length,
in units, of the other leg of this triangle?

A.

14

B.

28

C.

3√13

D.

21√13

Question 14

The function 𝑓 is defined by 𝑓𝑥 = - 22𝑥 . The function 𝑔 is a decreasing linear
function. In the xy-plane, the graphs of 𝑦 = 𝑓(𝑥) and 𝑦 = 𝑔(𝑥) intersect at two

points, ℎ, 𝑗 and 𝑘,𝑚, where 𝑗 > 𝑚. When 𝑔(𝑥) < 𝑓(𝑥), which of the following
must also be true?

A.

𝑥 > 𝑘

B.

𝑥 < ℎ

C.

𝑥 > 𝑘 or 𝑥 < ℎ

D.

ℎ < 𝑥 < 𝑘

Question 15

Arturo builds and sells two types of steel tables. The revenue Arturo
generates from selling each square table is 2 times his cost to build a square

table, and the revenue Arturo generates from selling each hexagonal table is

2.5 times his cost to build a hexagonal table. In one year, Arturo's total cost
to build tables was $ 42,120, and he generated a total revenue of $ 101,250

from selling all the tables he built that year. For that year, how much greater
is the revenue Arturo generated from selling hexagonal tables than the

revenue he generated from selling square tables?

A.

$ 16,200

B.

$ 25,920

C.

$ 59,130

D.

$ 68,850

Question 16

𝑓𝑥 = √𝑥3 + 𝑎𝑥2 + 𝑏𝑥 + 𝑐

The function 𝑓 is defined by the given equation, where 𝑎, 𝑏, and 𝑐 are integer
constants. In the xy-plane, the graph of 𝑦 = 𝑓𝑥 passes through the point 90,

and 𝑓0 = 27. What is the value of 9𝑎 + 𝑏?

Type your answer here...

Question 17

Two lines intersect at exactly one point, forming two acute angles and two

obtuse angles. The measure of one of these angles is 3𝑥 - 310°. Which of the
following could NOT be the sum of the measures of any two of these angles?

A.

-6𝑥 + 620°

B.

-6𝑥 + 980°

C.

6𝑥 - 620°

D.

180°

Question 18

The solutions to 𝑥2 + 10𝑥 + 19 = 0 are 𝑟 and 𝑠, where 𝑟 < 𝑠. The solutions to

𝑥2 + 10𝑥 + 1 = 0 are 𝑡 and 𝑢, where 𝑡 < 𝑢. The solutions to 𝑥2 + 20𝑥 + 𝑐 = 0,
where 𝑐 is a constant, are 𝑟 + 𝑢 and 𝑠 + 𝑡. What is the value of 𝑐?

Type your answer here...

Question 19

For the linear function 𝑓, 𝑓3 = 19 and 𝑓9 = 1. Which equation defines 𝑓?

A.

𝑓𝑥 = - 1
3𝑥 + 20

B.

𝑓𝑥 = 1
3𝑥 - 2

C.

𝑓𝑥 = - 3𝑥 + 22

D.

𝑓𝑥 = - 3𝑥 + 28

Question 20

In triangle 𝑋𝑌𝑍, the measure of angle 𝑋 is 90°. Point 𝑊 lies on segment 𝑌𝑍,

and segment 𝑊𝑋 is perpendicular to segment 𝑌𝑍. The length of segment 𝑊𝑌
is 524, and the length of segment 𝑊𝑋 is 393. What is the value of tan𝑍?

A.

3
5

B.

3
4

C.

4
5

D.

4
3

Question 21

The mass of object A is 469% of the mass of object B, and the mass of object
A is 0.670% of the mass of object C. If the mass of object C is 𝑝% of the mass

of object B, what is the value of 𝑝?

Type your answer here...

Question 22

For the function 𝑓, for each increase in the value of 𝑥 by 𝑐, where 𝑐 is a

positive constant, the value of 𝑓𝑥 increases by a factor of 27. Which of the

following equivalent forms of the function 𝑓 displays 1𝑐  as a coefficient of 𝑥?

A.

𝑓𝑥 = 3531
2𝑥

B.

𝑓𝑥 = 3533 1
6𝑥

C.

𝑓𝑥 = 3591
4𝑥

D.

𝑓𝑥 = 3527
1
3𝑥

1
2


